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QUESTION 1

Refer to the Exhibit.

localhost.localdomain VMware ESXi, 5.5.0, 1106514 | Evaluation (60 days remaining)

| Getting Started | Summary " Virtual Machines | Resource Allocation ” Peformance (oL Lty Local Users & Groups | Events | Permissions

Hardware Processors i) Properties. ..
Health Status General ¢
v Processors Model Intel(R) Core(TM) i7-3740QM CPU @ 2.70GHz
Memary Processor Speed 2.7 GHz
Storage Processor Sockets 2
MNetworking Processor Cores per Socket. i}
Storage Adapters Logical Processoms 2
Hyperthreading NfA

Metwork Adapters
Advanced Settings

Power Management

Which two reasons could be the cause of the vSphere Client reporting N/A for hyperthreading? (Choose two.)
A. The physical CPUs in the host do not support hyperthreading.

B. Hyperthreading is disabled in the host\\'s BIOS.

C. The physical CPUs in the host are not multi-core.

D. The number of CPUs meets or exceeds the maximum without hyperthreading.

Correct Answer: AB

QUESTION 2

An administrator needs to create property definitions in the Property Dictionary. After clicking on Blueprints under the
Infrastructure tab, the administrator notices that the Property Dictionary menu isn\\'t visible.

What is the issue?

A. The administrator doesn\\'t have the Fabric Administrator role assigned.

B. The administrator doesn\\'t have the Tenant Administrator role assigned.

C. The Property Dictionary is located under the Administration Tab.

D. The Property Dictionary is located in the Instance Types menu under the Infrastructure Tab.

Correct Answer: A

QUESTION 3

A storage engineer determines there are problems with the iISCSI network. A vSphere administrator needs to gather
performance metrics from a specific ESXi 5.x host to determine if the issue is causing high storage latency on the ESXi
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host.

Which tool should the vSphere administrator use to gather this data?
A. esxtop

B. vmkfstools

C. vmware-cmd

D. esxcli iscsi

Correct Answer: A

QUESTION 4

A vCloud Automation Center workflow is configured to accept typed user data as input to customize a virtual machine
during launch.

Which defined property below would enable this functionality?
A. Input.Datacenter.Property

B. Input.VirtualMachine.Property

C. Input.Custom.Property

D. Input.UserData.Property

Correct Answer: C

QUESTION 5

A vCloud Automation Center administrator configures a virtual machine blueprint with a maximum storage capacity of 50
GB. The virtual machine attached to that blueprint is provisioned with 15 GB of storage.

What happens when the virtual machine is deployed using the default settings?
A. The virtual machine is deployed with 15 GB of storage.

B. The virtual machine is not deployed.

C. The virtual machine disk is deployed with 50 GB of storage.

D. The user is prompted to reconfigure the virtual machine\\'s storage.

Correct Answer: A

QUESTION 6

A user requests that an approval policy be changed. The administrator tries to edit the approval policy and fails to find a
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way to edit the policy when logged in with the System Administrator role.

What is a likely cause of this situation?

A. Once an approval policy is placed in Active state it cannot be edited by any user.

B. Once an approval policy is placed in Active state it can only be edited by an approval admin.

C. Once an approval policy is placed in Active state it can only be edited by a tenant admin.

D. Once an approval policy is placed in Active state it can only be edited by administrator@vsphere.local admin.

Correct Answer: A

QUESTION 7

Which installation method is not available for a new deployment of ESXi 5.x?
A. Update Manager installation

B. Interactive installation

C. Scripted installation

D. Auto Deploy installation

Correct Answer: A

QUESTION 8

An administrator needs to change the network a virtual machine will attach to. The virtual machine is deployed using
vCloud Automation Center, but when the administrator attempts to modify the configuration, the requested network is
not displayed.

Why is the network unavailable in the interface?

A. It is unavailable in the Provisioning Group.

B. It is unavailable in the Reservation.

C. Itis unavailable in the Blueprint.

D. It is unavailable in the Build Profile.

Correct Answer: B

QUESTION 9

A department has a critical business service that will need Compute Resources of 8 GHz CPU, 20 GB Memory and 310
GB Storage.
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How should the administrator configure vCloud Automation Center to ensure the highest priority for this critical service?

A. Create a Reservation with Priority 0, Memory: 20 GB, StoragE. 310 GB Priority 0 using a vSphere Resource Pool that
guarantees 8 GHz CPU.

B. Create a Reservation with Priority 100, Memory: 20 GB, StoragE. 310 GB Priority 100 using a vSphere Resource
Pool that guarantees 8 GHz CPU.

C. Create a Reservation with Priority 0, Memory: 20 GB, StoragE. 310 GB Priority 0 and CPU: 8 GHz CPU Priority 0.

D. Create a Reservation with Priority 100, Memory: 20 GB, StoragE. 310 GB Priority 100 and CPU: 8 GHz CPU Priority
100.

Correct Answer: A

QUESTION 10

An administrator powers on a vCloud Automation Center Multi-Machine Service that includes Machine A and Machine
B. The application on Machine A does not start correctly and displays the following error message:

Machine B not ready

What step should be taken to resolve this issue?

A. Change the startup order of the Multi-Machine Service.

B. Create a startup dependency in the Multi-Machine Service.
C. Define a startup delay in the Multi-Machine Service.

D. Adjust the startup approvals for the Multi-Machine Service.

Correct Answer: A

QUESTION 11

An administrator has installed Application Services for a tenant group of users. What role will give the group the least
privileges necessary for provisioning applications into the vCloud Automation Center catalog?

A. Application Publisher and Deployer
B. Service Architect

C. Application Catalog Administrator
D. Application Architect

Correct Answer: A

QUESTION 12
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An administrator is using vCenter Operations Manager to monitor an environment and discovers that the Risk badge
score has decreased since the last time it was checked.

What condition would explain this change?

A. The Time Remaining badge has decreased from 65 to 45.

B. The Workload badge has decreased from 75 to 50.

C. The Capacity Remaining badge has decreased from 80 to 50.
D. The Stress badge has decreased from 70 to 40.

Correct Answer: D

QUESTION 13

While trying to create a new blueprint, the template virtual machine\\'s snapshot that the blueprint should be
based on is not available for selection.

Which action will resolve the issue?

A. The fabric administrator should perform a State Data Collection for the respective endpoint.

B. The fabric administrator should perform a Inventory Data Collection for the respective endpoint.

C. The laaS administrator should perform a Inventory Data Collection for the respective endpoint.

D. The laaS administrator should perform a State Data Collection for the respective endpoint.

Correct Answer: B

QUESTION 14

An administrator is configuring a DHCP Group within a Private Network Profile. The administrator cannot complete the
configuration due to an error.

What is the most likely reason?

A. The DHCP range overlaps the range of static IP addresses

B. The DHCP range does not fall into the static IP addresses range
C. The DHCP subnet range is duplicated in another DHCP Group
D. The DHCP subnet range has not been applied to a DHCP Group

Correct Answer: A

QUESTION 15

VCPC610 VCE Dumps | VCPC610 Practice Test | VCPC610 Exam Questions 6/7


https://www.pass4itsure.com/vcpc610.html
https://www.pass4itsure.com/vcpc610.html
https://www.pass4itsure.com/vcpc610.html

E VCE & PDF
' PassditSure.com

Refer to the Exhibit.

Edit Fabric Group
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Why is an laaS administrator unable to remove the PayloadO1 cluster from the Fabric Group shown in the exhibit?

A. The cluster is assigned to one or more Reservations.

B. The cluster is assigned to one or more Reservation Policies.

C. The administrator doesn\\'t have the required permissions to remove clusters from the Fabric Group.

D. To remove a cluster from a Fabric Group the hosts must be in maintenance mode.

Correct Answer: A
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